C:h Placing Decimals with Multiplication Name:

Deter mine the placement of the decimal in each product. ANnswers
7 5.809 x 7.8 = 453102 N\
1. Count the quantity of numbers to the L
right of the decimal for each factor, 2. Add theamountstogether. Y our answer
_ should have the same quantity of numbersto
5.809 has 3 _numbers right of the the right of the decimal. 2
decimal (5.809) 3+1=4
7.8 haslnumbez 7ng)ht of the decimal 5,089 (3) x 7.8 (1) = 45.3102 (4) N
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than 4
5.
D) 9x6233= 56 0 9 7
2 34x6117= 2 07 9 7 8 6.
3) 9443x5= 4 7 2 15 7.
4) 7264x13= 9 4 4 3 2 .
9 2x575= 1150
9.
6) 54x1830= 989 2 8
10.
7) 43x1.164= 500 5 2
8) 4596x6.7= 307 9 3 2 11,
9 _
) 4x438= 1 7 5 2 12.
10) g325x811= 6 7515 7 5
13.
11) sxs52= 10 4
14.
12) pax942= 4 1 4 4 8
13) go1x27= 2 48 6 7 15
14) 61x6122= 37 3 4 4 2 16.
159 4x501= 2 3 6 4 .
16) 6200x22= 1 36 8 8 4
18.
17) gxa457= 36 5 6
19.
18) 5x342-= 17 1 0
19) 3005x8= 26 360
1-10 |95(89(84|79|74|68|63|58|53 47|
[ Math ] www.CommonCoreSheets.com 5 11-19142|37132|26(21]16]11| 5| O




=

Placing Decimals with Multiplication Name. Answer Key
Deter mine the placement of the decimal in each product. Answers
7 5.809 x 7.8 = 453102 N\
: 1 56.097
L C.O UAHls quant! e s Etos 2. Add the amounts together. Y our answer
right of the decimal for each factor. .
_ should have the same quantity of numbersto
5.809 has 3 numbers right of the the right of the decimal. o 20.7978
decimal (5.809) 3+1=4
7.8 has1 numbez 7rrg)ht of the decimal 5,089 (3) 7.8 (1) = 45.3102 (4) N 47 215
Also noticethat 5x 7=35and 6 x 8 =48, s0 5.809 x 7.8 will be a more than 35 but less than
4, 0.4432
5. 11.50
1) o9x6233= 5 6.0 9 7
2) 34x6.117= 207 9 7 8 6. 9.8928
3 9443x5= 4 7.2 15 ;- 5.0052
4) _
7.264x1.3= 9. 4 4 3 2 8 307932
5 2x575= 1150
9 17.52
6) 54x1832= 9.8 9 2 8
7 43x1164= 500 5 2 0. 6751575
8) 4596x6.7= 307 9 3 2 11 104
9 4% 438 = 1 7.5 2 12. 41.448
10) _
8.325 x 8.11 6 7.5 1 5 7 5 u  24.867
1) 2x52= 1 0.4
14 37.3442
12) pax942= 4 1.4 4 8
13) 921x27= 2 4.8 6 7 15 2364
14) 61x6122= 37 3 4 4 2 16, 13.6884
15 4xs501= 2 3.6 4 - 3656
16) g222x22= 1 368 8 4
' ' 18, 17.10
17) gx457= 3 6.5 6
18 19. 26.360
) 5x342= 1710
19) 3295x8= 2 6.3 6 0
1-10 195(89(84|79|74|68|63]|58|53 47|
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